Hong Kong Diploma of Secondary Education Examination AN
Practice Paper for Economics )

Samples on Students’ Performance

- ["Section A (50 marks)
L. Peter borrowed a book from Mary and he promised to return the book with a bookmark to her a month later

at her request. Explain why the bookmark could be regarded as “interest” to both Peter and Mary.
(4 marks)

,,,,,,,,,, XO?@EW;&QJOG‘YW“WJ*LWE ot Oty O] ‘,%g@&

lmhka‘cs&n%“bﬂ{&ﬁﬂté .................... jﬂ ................ o ol [y
8 gk o o ook ) N

s et OAQ[WJWJ‘TL’@}&él&M{oJ[AjQ Ll

>

arked.

ot be m

5. A Chinese car manufacturer acquired a Swedish car manufacturer in 2010, Explain which type of integration

was involved in this case and state THREE possible myétives for this type of igtegration. {5 marks)
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3. The earthquake in Japan greatly damaged the production facilities of memory products Tike Secure Digital
(SD) cards. As a result, the prices of these products rose. With the aid of a diagram, explain under what
condition the total expenditure of Japanese consumers on the memory products would fall. {7 marks)
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4, (2)
(®)

What is “deadweight 1085™7 . (2 marks)

A teacher said, “An effective price ceiling may increase the consumer surplus.”
His student replied, “If this is the case, the price ceiling may enhance econormic efficiency!”

(i) Do you agree with the teacher? Hiustrate your answer in Figure 1. (3 marks)
(i) Do you agree with the student? Explain your answer with the aid of Figure 2. (5 marks)
Figure 1
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Figure 2
Price

Pc = price ceiling

Pc ~ price ceiling
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: eh eivi : Kong construction company for the
“Richardson, a British civil engineer, has worked for a large Hong g ¢ coD 1
5 l\/irst few years. He is earning an annual income of HES$800 000 and he rerm‘m part of his income 1o h}s
Ef)amily in Britain. Is Mr. Richardson’s ncome counted in HK's gross domestic product (GDF)? Expllzctsm
your answer. (3 marks)
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6. The following is a news report about Economy A.

Skilled construction workers are in great demand after the 1aunc_h of the construction
project of a new high-speed railway system. A government oﬂit.nai has anmounced the
introduction of a Jabour importation scheme to meet the need for skilled workers,

i
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7. Refer to the business cycle shown in Figuie 3. Identify the phase which point A is in, Apart from the
information about the real gross domestic product (GDP) growth rate in this phase, give THREE general

............................................................................

economic phenomena which ocecur in this phase. (4 marks)
Figure 3
Real GDP Growth Rate
'
Long-term Growth Rate

A w v
s 2
E | E
o Pt P o o depmionns _— 2
| — &
| - :ﬂ “. MM! emme AWM m o A e T |z
U Hepuad . ML fh il m@m{ - |2 4

' g ﬁ% :&Qr Je/f’) ‘C'P] . g

: NE
g =
= Y U :
- g
g g

8. Demand deposits can be regarded as money. Explain which TWO functions of money they can perform.

(4 marks)
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9. Country A and Counfry B posséss the same amount of resources. While Country A uses half of its resources
in producing food and half in producing computers, Couniry B uses one-third of its resources in producing
food and two-thirds in producing computers. Their total output in a year is shown below.

Food (units) Computers (units)
Country A 100 50
Country B 200 100

Explain whether Country B has
{a) an absolote advantage; and

(b)  acomparative advantage

in producing food.

{6 marks)
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N

Answers written in the

Answers written in the margins will not be

PP-DSE-ECON 238

marked.

Page Totg| 53




Please stick the barcode label here.

10.  Suppose the US dollar depreciates against the Euro. Under the Hnked exchange rate system, how will the
following iterns be affected?

(3  The total number of Hong Kong tourists travelling to Buropean countries

(b)  The prices (in Buro) of Hong Keng toys exported to Europe -

The total expenditureAin Hong Kong dollar) of Hong Kong on imported European automobiles
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Section B {54 marks)

11. The prices of textbooks for senior secondary education have increased sharply because textbook publishers
have to publish new textbooks for the new curriculum. ‘

(a)

(b)
()

(@)

The production of textbooks involves various experts, including authors, editors, graphic designers,
etc. What economic principle is illustrated? Give THREE reasons to explain why this principle can

raise labour productivity. (4 marks)

Explain whether the knowledge in the textbooks s a public good. (3 marks)

In Hong Kong, to which type of market structure do the publishers belong? State TWO features of
this type of market structure. _ {3 marks)

Under the School Textbook Assistance Scheme (STAS), needy students are granted subsidies to
cover the costs of textbooks and miscellaneous school-related expenses. Explain how STAS can

enhance equity in Hong Kong society. (4 marks)
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12. In November 2010, the animated version of the Riverside Scene at the Qingming Festival GETEIREMRE
B9 I FT B8) was exhibited in Hong Kong. 600 000 tickets were sold at $10 each through the URBTIX
outlets and the Internet. Tickets were sold out within a short period of time. Many citizens complained that
they could not purchase any tickets.

(a) (i) llustrate the above phenomenon in a demand-supply diagram. (3 marks)

(if)y Suggest TWO measures which would help relieve the above problem. Illustrate your answers
Y in TWO separate diagrams. {6 marks)

(b)  Some people paid $200 to buy a ticket from touts (E4-H)
(i) State the function of price in the above case. ' (1 mark)

(i) “The government should raise the ticket price so as to Kick oiit touts.” Evaluate this proposal.
(4 marks)
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3. Figure 4 shows the aggregate supply and aggregéta demand curves of an economy.

. Figge'tl “
P
, LRAS
SRAS,
%} / AD  =agpregate demand
SRAS = short run aggregate supply
: : B LRAS =long run aggregate supply
P _ P = price level
LY Y =aggregate output
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Suppose the initial equilibrium is at Eo.
(@) Whyisthe short run aggregate supply curve upward-sloping? (3 marks)

(b)  Suppose the economy suffers from a bursting of the assets bubble so that asset prices fall drastically.
With the aid of Figure 4, explain how the short run equilibrium output and price levels of the
ecopomy will change. ' (6 marks)

(¢)  With the aid of Figure 4, explain how market forces will help restore the output level to ;.

(5 marks)
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257, 2 218,

" The following table chows the balance sheet of the banking system of an economy:

. Assets ($ million) Liabilities ($ million)
Reserves 1 000 | Deposits 4000
Loang 3000

Suppose the public in this economy always holds $500 million cash and the bapking system never holds
£XCess Ieserves.

() Calculate the monetary base and money supply of the economy. (2 marks)
(b)  Suppose the central bank lowers the minimum reserve ratio of the banking system by 5%.
() Explain whether the monetary base of the economy changes. (2 marks)
(ii) Calculate the new money supply. Show your working. ' {4 ma;ks)

()  According to the quantity theory of money, explain how the above change in money supply affects
the general price level in the long run. (4 marks)
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END OF SECTION B
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16, (@) - Figuie 6 shows the production possibilify frontiers of Country A and Country B.

50

AA’ — Country A’s production possibility frontier
BB’ - Country B’s production possibility frontier
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()  Figure 7 shows the Human Development Index and GDP per capita of China and Egypt in 2009.
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(i) Explain whether Country A has an absolute advantage in producing Good X, (2 marks) "-é
(i) Suppose both countries engage in complete specialization according to their comparative :én
advantages. Given the terms of trade is 1X = 1Y, draw on Figure 6 the production points and | &
consumption possibility frontiers of Country A and Couniry B. (4 marks) g
E
(i) Based on your answer in (ii), explain whether both countries can gain from trade. (2 marks) | .H
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g
g
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Figure 7

Human Develbpment‘ GDP per capita
Index Uss

0.80 7,000

China 0.78 6,700
0.76 6,400
0.74 6,100
0.72 5,800
Egypt 0.70 5,500
0.68 | 5,200 o
0.66 1 4,900
0.64 4,600
0.62 4,300
0.60 4,000
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PP-DSE-ECON 2-20 20 ~

P73



Answers written in the margins will not be marked.

(iy Suggest TWO reasons to expléin why China bas 2 significantly higher Human Development
Index despite having a similar GDP per capita to Egypt. {4 marks)

(i)  The GDP per capita of China increased sharply in the last decade. Explain with TWO reasons

why the increase in the GDP per capita may overstate the improvement of general living
standard. : {4 marks)
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END OF PAPER

Sources of materials used in this paper will be acknowledged in the Hong Kong Diploma of Secondary Education
Examination Practice Papers published by the Hong Kong Examinations and Assessment Authority at a later stage.
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Hong Kong Diploma of Secondary Education Examination
. Practice Paper for Economics ' -
Samples on Students’ Performance 7 .

Section A (50 marks) N

1. Peter borrowed a book from Mary and he promised to return the book with a bookmark to her a month later
at her request. Explain why the bookmark could be regarded as “interest” to both Peter and Mary.
(4 marks)
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2. A Chinese car manufacturer acquired a Swedish car manyfacturer in 2010. Explain which type of integration
was involved in this case and state THREE possible médtives for this type of integration. (5 marks)
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3. The earthquake in Japan greatly damaged the production facilities of memory products like Secure Digital
(SD) cards. As a result, the prices of these products rose. With the aid of a diagram, explain under what

condition the total expenditure of Japanese consumers on the memory products would fall. (7 marks)
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4. @
®

What is “deadweight loss™? ) (2 marks)

A teacher said, “An effectwe price ceiling may increase the consumer surplus.”
His studént replied, “If this is the case, the price ceiling may enhance economic efficiency!”

(i) Do you agree with the teacher? Illustrate your answer in Figure 1. (3 marks)
(i) Do you agree with the student? Explain your answer with the aid of Figure 2. . (5 marks)
Figure 1
Price
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Pc = price ceiling
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Fipure 2
Price . -

Pc = price ceiling
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5. M Richardson, a British civil engineer, has worked for a large Hong Kong construction company for the

past few years. He is earning an annual income of HK$800 000 and he remits part of his income to his
family in Britain. Is Mr. Richardson’s income counted in HK’'s gross domestic produtt (GDP)? Explain
your answer. ’ (3 marks}
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6. The following is a news report about Economy A.

Skilled construction  workers are in great demand after the launch of the consiruction
project of a new high-speed raflway system. A government official has announced the
introdnetion of a labour importation scheme to meet the need for skilled workers,

Suppose the imported workers do not replace any of the domestic workers. Explain how the unemployment

rate will be affected by the scheme. (4 marks)
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7. Refer to the business cycle shown in Figure 3. Identify the phase which point A is in. Apart from the
information about the real gross domestic product (GDP) growth rate in this phase, give THREE general

‘economic phenomena which occur in this phase. (4 marks)
Figure 3
Real GDP Growth Rate
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8. Demand deposits can be regarded as money. Explain which TWO functions of money they can perform.
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9. Country A and Country B possess the same amount of resources. While Country A uses half of its resources
in producing food and half in producing computers, Country B uses one-third of its resources in producing
food and two-thirds in producing computers. Their total output in a year is shown below.

Food (units) Computers (units)
Country A 100 50 &
Country B 2001 1007

Explain’ whether Country B has
(a)  an absolute advantage; and
(b)  acomparative advantage

in producing food. (6 marks)

(=) C,m-'fv‘,) B has an ebuwhkl oulverifese %_ﬂwo{mb?m;_ 75, o
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Suppose the US dollar depreciates against the Euro. Unider the Tinked exchangé rate system, how will the

(3 marks)

o following(items be affected?
(8  The total number of Hong Kong tourists travelling to European countries
(b)  The prices (in Euro) of Hong Kong ioys exported to Europe |
(c)  The total expenditure (in Hong Kong dollar) of Hong Kong on imported European autortobiles
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Section B (54 marks)

11.  The prices of textbooks for senior secondary education have increased sharply because textbook publishers
have to publish new textbooks for the new curriculum.

(a)  The production of textbooks involves various experts, including authors, editors, graphic desigoers,
etc, What economic principle is illustrated? Give THREE reasons to explain why this principle can
raise labour productivity. ' (4 marks)

T

(b)  Explain whether the knowledge in the textbooks is 2 public good. ' (3 marks)

(¢)  In Hong Kong, to which type of market structure do the publishers belong? State TWO features of
this type of markef structure, ) (3 marks)

(@  Under the School Textbook Assistance Scheme (STAS), needy students are granted subsidies to

cover the costs of textbooks and miscellaneous school-related expenses. Explain how STAS can
enhance equity in Hong Kong society. ' . (4 marks)
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12, In November 2010, the animated version of the Riverside Scene at the Qingming Festival (8 F Bh iR AR
BH 7 Bf) was exhibited in Hong Kong. 600 000 tickets were sold at $10 each through the URBTIX
outlets and the Internet. Tickets were sold out within a short period of timme, Many citizens complained that
they could not purchase any tickets.
= @O Iliustrate the above phenomenon in a demand-supply diagram. (3 marks) § -

(i) Suvggest TWO ﬁneasures which would help relieve the above problem. Ilustrate your answers
‘ in TWO separate diagrams. (6 marks)

(b)  Some people paid $200 to buy a ticket from touts (¥ 4 $£).

() State the function of price in the above case. . (1 mark)

(i) “The government should raise the ticket price so as to kick out touts.” Evaluate this proposal.
(4 marks)

LNt ogiew,
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13.  Figure 4 shows the aggrcgate supply and aggregate demand curves of an economy.

Figwe 4
P
\ LRAS
SRAS,
’ SR 1} (71
AD  =aggregate demand
. SRAS =short run aggregate supply
. Ey ) LRAS =long run aggregate supply
7, : — P = price level
i , £ Y = gporegate output
Per f ‘ Ye - =full-employment output

\Lm . A X e | > chell wan
// | ap, 2 1y
. ~ANTN ,

N ¢ v ) -
(‘;L *“} \zhb DU’% }\fv!.a‘."D 65“) -
Suppose the ini itial eq.llﬂ ibrium ig at Eo

(c)  With the aid of Figure 4, explain how market forces will help restore the output levelto Y.

()  Why is the short run aggregate supply curve upward-sloping? ' {3 marks)
(b)  Suppose the economy suffers from a bursting of the assets bubble so that asset pnces fall drastically.

With the aid of Figure 4, explain how the short Tun equﬂlbnum output and price levels of the
economy will change. {6 marks)

{5 wmarks)

Answers written in the margins will not be marked.

" Answers written in the margins will not be marked.
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4. The following table shows the balance sheet of the baﬁlcing system of an economy:

_ Assets (§ million) - Liabilities ($ million)
Reserves 1 000 | Deposits 4000
Loans - 3 000

Suppose the public in this economy always holds $500 million cash and the banking system never holds
EXCESS TEServes. ‘

(@  Calculate the monetary base and money supply of the economy. ‘ (2 marks})
(b)  Suppose the central bank lowefs the ;Iliniuiﬂm reserve ratio of the banking system by 5%.
(i)  Explain whether the monetary base of the economy changes. (2 marks)
(i) Calculate the new money supply. Show your working. {4 marks)

(¢)  According to the quantity theory of money, explain how the above change in money supply affects
the general price level in the long run. My =Y o (4 marks)

AR T e RN A

= $ 4550 p7lfwn,

Answers written in the margins will not be marked.
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Jde. (@ Figure 6 shows the production possibility frontiers of Country A and Country B.

Figure 6

AA’ — Country A’s production possibility frontier
BB’ — Country B’s production possibility frontier

g
L
o
“1
” _50\
cfF £h \/
Y Ol"'r‘o%ﬁ A’ Pwd‘ﬂ(ﬁﬂ/‘ P‘?h-f d H :
0 RN 50 100 Good X
(i)  Explain whether Country A has an absolute advantage in producing Good X. - {2 marks)
-(ii) Suppose both countries engage in complete specialization according to their comparative
advantages, Given the terms of trade is 1X = 1Y, draw on Figure 6 the production points and
consumption possibility frontiers of Country A and Country B. {4 marks)
(iii) Based on your answer in (ii), explain whether both countries can gain from trade, (2 marks)

(b)  Figure 7 shows the Human Development Index and GDP per capita of China and Egypt in 2009,

Figure 7
Human Development GDP per capita
Index - Uss

0.830 gy 7,000

0.78 6,700

China 6,400
0.74 - 6,100

0.72 5,300

Egzypt 070 5,500
0.68 5,200

0.66 4,500

- 0.64 4,600

0.62 4,300

0.60 : 4,000

Answers written in the margins will not be marked. -
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(i) Suggest TWO reasons 1o explain why Chipa has a significantly higher Human Development
Index despite having a similar GDP per capita to Egypt. (4 marks)

‘(ii)___The GDP per capita of China increased sharply in the last decade. Explain with TWO reasons

marked.

Answers written in the margins will not be

why the increase in the GDP per capita may overstate the mprovement of general Jiving
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END OF PAPER

Sources of materials used in this paper will be acknowledged in the Hong Kong Diploma of Secondary Education
FExamination Practice Papers published by the Hong Kong Examinations and Assessment Authority at a Iater stage.
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Hong Kong Diploma of Secondary Education Examination
"Practice Paper for Economics S
Samples on Students’ Performance |

Section A (50 marks)

1. Peter borrowed a book from Mary and he promised to retumn the book with a bookmark to her a month later
at her request. Explain why the bookmark could be regarded as “ipterest” to both Peter and Mary., (b oacks)
' nar

s ;m«;:ft 7.

Cb?qsiwf;[);/ui'

fnd Ma»y, The . ferest & the receive O

------------------------------------------------------------- s

Consuwmpfionm . Tm’m_m

ins will not be marked,

2. A Chinese car ménufacturer acquired a Swedish car manufacturer in 2010. E?iplaiu \{Jhich type of integration
was involved in this case and state THREE possible inotives for this type of integration. (5 marks)

" Answers written in the margins will not be marked.

Answers written in the marg

Thid.,dhe jﬁrm Con..... hove _mofe  yarket Shoes,

Answers written in the margins will not be marked.
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S e e - 7T Pledse stick thie barcode label héi’ e,

3 The éarthquake in Japan greatly damaged the pro&ui:ﬁém facilities of memory products like Secure Digifa!

(SD) cards. As a resuit, the prices of the rose. With the aid of a diagram, explain under what
condition the totallexpenditure of Japanése consumers on the memory products would fall. (7 marks)

..... wdffwwj’ﬂfﬂ’ﬂes }
{;@iw tards , ~the

...................................................................................................................................................................

..................................................................................................................................................................
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()  What is “deadweight loss”? {2 marks)

{®)

A teacher said, “An effective price ceiling may increase the consumer surplus,” ,
His student replied, “If this is the case, the price ceiling may enhance economic efficiency!”

(i) Do youagree with the teacher? IHusirate your answer in Figure 1. (3 marks)
(i) Doyouagree with the studerit? Explain your answer with the aid of Figure 2. (5 marks)
Figure 1
Price
8
Pc = price ceiling
@ N/ d
Pc v yd
] /)(
!
1 D
0 - vd Quantity
@ o (_Q_ C
Fipure 2
Price
S
Pc = price ceiling
Aa()@‘f\f*ﬂ/\m
‘ | &
O \;ﬁ"’v\’
? gso G

A

Pc

i
|
§
|

(o

—» Quantity

Answers written in the margins will not be marked.

Answers written in the margins will not be marked.
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5. M. Richardson, 2 British civil engineer, has worked for a large Hong Kong construction compauy for the
arning an annual income._of HK$800 000 and he remits part of his income tohis|

M. Richardson’s income counted in HK's gross domestic product (GDP)? Explain

.. past few years. He.is,
family in Britain.
your answer.

(3 marks)

................................

6. The following is a news report about Economy A '

Skilled construction workers are’ in great demand after the iauﬁch_of the construction -
project of a new high-speed railway system. A government official has announced the

infroduction of a labour importation scheme o meet the need for skilled workers.

Suppose the imported workers do not replace any of the domestic workers. Explain how the unemploy;nent
(4 marks)

rate will be affetted by the scheme.

..............................................................................

S (%7//

Answers written in the margins will not be marked.
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Please stick the barcode label here.

7. - ‘Refer to the Busuiéss cyble shown, in Flgure 3. ‘Idenuff the phase which point A is in. Apart from the
* information about the real gross domestic product (GDP) growth rate in this phase, give THREE general |

economic phenomena which occur in this phase _ (4 marks)
Figure 3
Real GDP Growth Rate
A
AT = mm—
- p Year
0 \x‘/A

.......... ot K To M. The Mh el
0 The  Tnflaction. 1afe. . bl keep on
2. H fgh } _____ olgmefrt e . \/
). Decrease T (DP. ,)<

Answers written in the margins will not be marked.
Answers written in the margins will not be marked,

8. Dermand deposns can be regarded as money. Explain which TWO functions of money they can perforin.
(4 marks)

Answers written in the margins will not be marked.
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food and two-thirds in prT'i cing chr(ilputers. Their total output in a year is shown below.

- Food (units) Computers (units) — [C 2 F
Counfry A 100 JpV 50
Country B 200 LoD - 100

. —L o
Explain whether Country Bhas . ! F m’;(, _ |C =3t
(a)  an absolute advantage; and

(b)  acomparative advantage

in producing food.

g, Country A and Country B possess The same amount of resources. While Country A uses half of its resources
... —in producing food.and half in producing computers, Country B uses one-third of its resources in producing | . _

]

). Courit Bhas e

_pducig_ped |, 4 Cooln "B on_produe Cev

of frd "_rthen_all 1ecpites ot wed_fo_prbduse

Answers written in the margins will not be marked.
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{
Please stick the barcode iabel here. 1

10. Suppose the US dollar deprecxates against the Euro Under the Tinked exchange rate system how will the

following iterns be affected?
" (2)  The total number of Hong Kong tourists travelling to European countries
(b)  The prices (in Euro) of Hong Kong toys exported to Europe

(¢)  The total expenditure (in Hong Kong dollar) of Hong Kong on imported European antomobiles
(3 marks)

deprecates  pgammst

v.wa :

me ned fo 1 M)WT Eur é’m L?LVL'[:(',MobIIQS,

QeTease ™S AL Ty Dordure

Answers wriften in the margins will not be marked.
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Section B (54 marks)
BTN ’Ehégx;_ces of textbooks for senior geébﬂdaryﬂw “education have increased sharply because textbook publishers T

Answers written in the margins will not be marked.

have to publish new textbooks for the new curriculum,

(2)  The production of textbooks involves various experts, including authors, editors, graphic designers,
efc. What economic principle is illustrated? Give THREE reasons to explain why this principle can

raise labour productivity. (4 marks)
(b)  Explain whether the knowledge in the textbooks is a public good. _ (3 marks)

(¢) In Hong Kong, fo which type of market structure do the pﬁbiishers belong? State TWO features of
© this type of market structure. ‘ ' (3 marks)

(d)  Under the School Textbook Assistance Scheme (STAS) néedy students are granted subsidies to
cover the costs of textbooks and miscellanéous schosl-related expenses. Explain how STAS can
enhance equity in Hong Kong society. ' : (4 marks)

ok ornh daﬂ LM%W ot ",

7t Sayes  dime

............................ v,

“Thivd  can Choos€ -the sk Swtable

...... R i

job as  the wakers Are gl f}ﬁoa

.............................................................................................................
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12, In November
— | B was- exhibited - in- Hong: Konge- 608-000-tickets-were- sold-at-$10-each. through-the. URBTIX.

they could not purchase any tickets.

2010, the animated version of the Riverside Scene at the Qingming Festival (B FEIRENRE

outlets and the Internet. Tickets were sold out within 2 short period-of tbme, Many citizéns complained that

(a) (i) Iljustrate the above phenomenon in a demand-supply diagram. {3 marks)
(i) Suggest TWO measures which would help relieve the above problem. Tllustrate your answers
in TWO separate diagrams. {6 marks)
®) Some péople paid $200 to buy a ticket from touts (B 4= #).
() State the function of price in the above case. (1 mark})
G) “The govetrnment should raise the ticket price so as to kick out touts.” Evaluate this F:opozlj
mar

Answers.written in the margins will not be marked.
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Answers written in the margins will not be marked.
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13, Figure 4 shows the aggregate supply and aggregate demand curves of an BCONOIMY.

Figare 4
P
y LRAS

CCRAS o
\z CR.

AD  =apgregate demand

SRAS =short run aggregate supply
LRAS =long run aggregate supply
P =price level

Y = aggregate output

Y = full-employment output

’ = 7

Suppose the initial equilibrium is at Eq.

(8)  Why is the short run aggregate supply curve upward-sloping? (3 marks)
(b)  Suppose the economy suffers from a bursting of the assets bubble so that asset prices fall drastically.

With the aid of Figure 4, explain how the short run equilibrium output and price levels of the
economy will change. {6 marks)

()  Withthe aid of Fi gure 4, explain how market forces will help restore the output level to Y.

(5 marks)

Answers written in the margins will not be marked.

Answers written in the margins will not be marked.
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14. The fdllowing fable shows fhe balance sheet of the banking system of an economy:

Ao G milipmt | Lisbilities (3 million)
Reserves TE3% 1000 | Deposits 4000
Loans 3 000

Suppose the public in this economy always holds $500 million cash and the banking systern never holds
£XCess Ieserves.

(a)  Calculate the monetary base and money supply of the economy. {2 marks)

(b)  Suppose the central bank lowers the minimum reserve ratio of the banking system by 5%.

(i)  Explain whether the monetary base of the economy changes. ' (2 marks)
(i) Calculate the new money supply. Show your working. (4 marks)

{c) According to the quéntity theory of money, explain how the above change in money supply affects
the general price level in the Jong run. ' . (4 marks)

Answers written in the margins will not be marked.
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8. The  genwal  price level m@ ....... Merease . fs
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END OF SECTION B

Answers written in the margins will not be marked.
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Section C (16 marks) Answer any ONE question.

15. A pay TV channel spa_r;; a huge sum of money
international sports event for one season.

L —— .
(a)  Suppose the expense on.the purchase of exclusive broadcasting rights was the only cost for the ﬁay
TV channel in providing the | 6'1:933@’______9{1&8 cast service.> Figure 5 shows the market demand for the

subscription’to the sports programme.

T s b, e+ g e

Figure 5

A Moﬁt‘iﬂy fee ($)

A

0 > Number of subscribers

R

(@) With the aid of Figure 5, explain how the pay TV channel would set a price to maximize its

profit under a uniform price arrangement. o " (5 marks)

(i) “The price charged for the programme would result in economic inefﬁciénc +” Do you agree?

{(b)  Suppose during the period of promoting the programme subscription, the pay. TV channel offered
discounts only to new subscribers but not to the existing ones. "

() Explain whether the above practice constituted price discrimination. (4 marks)

(i) Other free-fo-air broadcasters were not pe‘rmiited to broadcast the event. This mrangemeﬁt waé

criticized for the lack of competition. Suggest TWO reasons to justify the introduction of a
competition policy. o (4 marks)

Explain. _ - (3 marks) |

Answers written in the margins will not be marked.

Answers written in the margins will not be marked.
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